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This packet is not necessarily comprehensive. In other words, this packet is not a promise in
ﬂ level of difficulty or full scope of material.

Polynomials

1. Classify by degree and number of terms: 2. Which is the correct classification of 25xyz + 6x%+17

7x? - Sx3y? A. binomial with a degree of 2

B. binomial with a degree of 3
N mic..ﬂ C. trinomial with a degree of 2
r:;;% cee rinomial with a degree of 3

3. Add. (3x* — 9x3 + 5x2 —x +7) + (3 + 4x* + 3x — x* + 3x?)

S -10¥ 4% 2 42x+\0

@Subtract. (7x3 —4x — x2 +2—20x° — 6x*) — (8 + 3x3 — 2x — 12x5 + 7x% — 8x*)

e

5. Simplify: 3(x — 1)3 \ 6. Simplify: (x° — 2)(x +5)
B(x-D-D 2% 4 B -245-10
’5()( '214\(*"\ - 3 |

XD
7.Simplify: (x + 5)(x+7) ° 8. Simplify: (x3y + 5)2
¥+ Tlxx 5xx3S @?%*ﬂ({“j*g
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+ 1. Transformations of Functions

Graph the following transformations. Describe each transformation in words,
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0. f(x)= |« o Jj= P
f(x=5)+3

\ r \a\s ""j
cigv S rc%(cﬁ across
X ax\§

: 13 LAy ] Domain (interval
Increasing O O ¢ i | notation):
Interval(s): S T (_ 09, :”3
(L\ 120) Range (interval .
Decreasing notation):
Interval(s): (‘ 20 .37
("Mn“‘h
RS N SR SR ] o Maximum (only the y
T _:"_-Bé?é T f@=_0 value!):
ToeHe e =340
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15. Draw a graph that is increasing then
14. decreasing then increasing then decreasing and

™ T has a domain of all real numbers and a range of
P .| Domain (=0,3]
T77 77 7 (intewval \
% notation): TTT 770 ST
oo E 'S4
| “ , Range (interval
' notation):
Tt t Ea j 1]‘
i} Minimum (only o
the y value!):
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' X Use the graph to estimate the average rate
—6 of change of the height of the ball for the
5 first 0.25 seconds after being hit.
Y
% L, \ A. 0.75 feet per second
? |, B. 3.0 feet per second
2 feet per scond
! \ . 20 feet per second. 5-2 3
0] 0.25 0.5 0.75 135 s | £ ¢
{ 2R N S T '1.5:53 75. o~ .26 @
Time (seconds) (0.23 (

17. For the following piecewise function:
1
-=x+1, x<0
fx)=9 3
(x=5)% x>0

Evaluate: f(3)=_4  f(0)=_1 f(-6)=_S 3 f(8)= 1

2
(-5 "l-)ﬂ 1M (%-5)
18. Graph the piecewise function T T AT R
1 1 H . ; ; :
L x?, x<1 = \: = /
f(x)=43, 1<x<2 maw !x_:.\g‘:?";i -
x, x>2 < R R :é,.;.l,_‘.é_ﬁ‘..ﬂ]:
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a5, 42X13 = 256 26, 3-2¥*1.372%73 =37%

a3 4 - \
47 =Y (Aot +(2 32
2 +3=4 | -Hx 2= X
2y = \ .2 = 7)*

27.What values of b in the formy = ab* will give an equation for exponential growth?
What about exponential decay?

T¢ v, +ren ¥ (sex'@oaenh%(, SMk
TE beli, +hea * 3 e,@.fwvé deuj

28. Graph the Exponential Function and describe its key features.

Growth or )
Decay? Gt

Domain E’ 00, “3
Range @ l m) ;

y - intercept

S
Asymptote -

. R
End K220, £lx) 229 :

Behavior Y2, (N2 4

29. Match each function to a graph.
f(‘x')‘—s % W ’ h’(‘x’)'a%—*; -
F(x) = -13“, G(x) = 21'"‘, H(x) = *—i"'.
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). The value of a car can be.modeled by the function g(t) = 22500(0.554)¢, where t is the number of
years. Describe v_vhat is happening with the value of the car, using both numbers from the function

in your explan
| he avr is onginelly wordly, & 22, <66
ond s ACCretghj i velue b“\ L/VM

31. Suppose 6,700,000 people watch the first episode of “Keeping Up with the Kardashians”, but the
number of viewers decreases by 3.5% each week.

a. Write an exponential function to model the situation.

B——

EG'%INO (:965)")  y= tofuseks

b. If the pattern continues, how many will watch the season finale, which is ten weeks later?
= LI,GC'(IX’?\ {Pcop’ﬁ

32. Jane's credit card company charges 20% interest per year, compounded quarterly. If ]ane_’s credit
card bill was originally $775, how much will the bill be after 4 years if she doesn’t pay it off?
Round your answer to the neares :

4= ﬁoFcazf/S

33. Three scientists describe the amount of a radioactive substance, Q in grams, left after ¢ years:

t
@ A: 500 (%)8 B: 500(0.917) C: 385.548(0.917)t3

a. Which expression highlights the half-life (the time taken for the radioactivity of a specified isotope to
fall to half its original value) of the radioactive substance? What is the half life?

D) S’«agws

b. Which of the expressions highlights what the amount of radioactivity is after 3 years? How much is it
after 3 years? :
O 3g5.54¥

c. Which expression highlights the decay rate each year? What is the percent decay each year?

®  $32

34. Circle two below that are equivalent. Below your choice show by hand how you can convert one to
the other.

//f 4(2)* 4t+1 c. 16(2)¢ d. 82t (2)2t+22
" 4 2.2
Loy 4t
L"H'l
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35. Label the vertex, zeros, and
axis of symmetry on the graph.

36. Fill in the table.
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Vertex Form \ Intercept Form | Standard Form

(x+1)* -2

1
y=3
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37. Write the equation in intercept form, vertex form and

standard form.
kf)‘ -3 (,u D(X"B
g ~3(x+0)" +3
y= -3x“*3

38. Solve this equation using the methods listed below: x% — 15x = —50

Factoring

N-\SxxS0= 0

@"0\(5;5).: @)

X=(o or x=5

Complete the Square

Cisc | e 28] = =5 *@

779 (625
(7.8 22 €
Xz 7)”?5

< |O /)(/S
L.._w)(IO ’>

Quadratic Formula

Y -15x+S0:©

(12 NERH D
— 2D f
\@ZZZT

IS‘.*(.S

S"‘f

Graphing (SKETCH)

T ]
}\/7.
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Solve using the method of your choice:

39. 3n%2—-8n=-—4

3(\1’? n* q‘-’— O
Grz)(n2-0

:13(7 n=2

41, 4x% +3x =10

“{x +3x-10=©C |

Ly* y fx-5x 107 ©
Hy (x+¢2) - (xrﬂ"

@,,g)(uz\)*

xz.'X'/

40.  —9x? = 66x +21
O=9Gx7% 9 blox+2|
0= 3(3x*+21x+T)
0> 3 (BN D0

-Ifs ﬂ)
42.  5x? —18x\-—<r~

5x*-1gx-9- O
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43. Whatis the Discriminant and what does it tell us abo\ut h'o\:lgan}’ solutions there are?
LT Vdae >0 thet cre 2en 50
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44. The height in feet of a baseball seconds after beiqg\hit isgivenby h(t) =-16t? + 64t + 3,

a. What is the initial height of the basebali? ° @N
b. What is the maximum height of the ball? When does this occur? (do not use_g_‘c_al,cula,,tor)\\
. ~T fer 7 d
I, Vst i
20 20\ -2

=l (D904 +
~LYr 128272

45, The height of a flare fired from the deck of a shi

P in distress can be modeled by h = —16t2 + 104¢ + 56,
where h is the height in fee

t of the flare above water and t is the time in seconds.

Find the time it takes the flare to hit the water. Factor to solve. Do not use a calculator.

O= -1 \oMe +sSk
O - ?( 2¢% V3¢ '-‘73 s€condls
o= —8§(2 +)(+-7)

46. The length of a rectangle is 8 feet more than its width. The area of the rectan
length and width. Draw a picture and set up an equation to solve.

ID\” \A)(L»*ff\: ¥4
Wty

W tw-T4= w= G

G (w00

47. The height of an object moving in a parabolic path can be found by using the formula h = —1¢¢2
where v is the initial upwards velocity in feet per second and s is the starting height in feet. A bask
shoots at the basket from a starting height of 6 feet and an upwards velocity of 20 feet per second.

gle is 84 square feet. Find its

etball player

Determine how long it takes for the basketball shot to drop through the basket tha
feet. Factor to solve- do not use a calculator. (Hint: you will gettwo positive soluti
determine which one is the correct answer)

o= = lbe* 120 46
|0= ~ Lt +20t + 6
O=-lo¢?+20¢ - Y

tis mounted at a height of 10
ons- think about the graph to

o> -H(4*~5¢ +D
0= =44 =1 (-
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52. Solve: 5x2+x+2=0

@

53, Solve: 9x% +5 = —95
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54. Which residual plot implies that a linear model is the best fit for the data?
A\S \o"“\g (eS G\S
0 (€S (Lot B Ao
. 5 “ ‘N 571 < .
34 o < - . 34
L 2 L J
15 A A . 17 R R
A s 4 6 8 B 1 -1 2'4 ;‘;‘1'0 1,2
34 L J -3 [ *
. 5 * * * 5 - g * .
55. What type of function is described by the table? Explain your answer. &u '-f)’ &N~ kmw
X 1 4 7 10 13 sve g,,..(
y -4 11 - | 44 95 164
~ ~—/ \/ W/
+35
1S s 3 , 464
56. Which equation best fits the data? : 1 '
A)y=—-(x+2)*+4 o d
B)y = (x — 2)*+4 . ’
D)y = (x + 2)%+4 .
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